Y/ (t) =a1, xDUM 90+a 2, XDUM 94+a 3, xDUM 99+ J b, xX! (t)

Yj(t) t i 14
DUM90 1990 =1, =0
DUM94 1994 =1, =0
DUM99 1999 =1, =0
X (1) t i J
a B
/
km/
km/
km/km?
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1994 1999
oy 1990,1994,1999
1994 1999
1990,1995,1999
1990,1995,1998
GRP 7
2001
2001
1990,1994,1999

60



1990 1995 1999 1990 1995 1999
564 569 570 176 195 202
148 148 148 39 46 49
142 142 141 39 47 52
225 233 236 75 85 91
123 121 120 34 39 41
126 126 125 37 40 44
210 213 214 68 79 85
285 296 300 102 113 118
194 198 201 70 78 83
197 200 203 70 78 82
641 676 693 182 196 206
556 580 592 172 183 184
1,186 1177 1,184 878 859 896
798 825 844 294 307 319
248 249 249 83 95 101
112 112 113 42 46 48
117 118 119 41 46 49
82 83 83 29 32 35
85 88 89 30 32 34
216 219 222 73 82 86
207 210 212 66 71 76
367 374 378 140 152 160
669 687 701 318 336 353
179 184 186 61 64 69
122 129 133 51 58 61
260 263 263 89 98 99
874 880 880 381 406 422
541 540 548 190 212 213
138 143 145 34 37 38
107 108 107 29 31 33
62 62 61 19 21 21
78 77 76 22 23 26
193 195 196 69 74 74
285 288 288 107 112 117
157 156 154 53 59 62
83 83 83 23 26 28
102 103 103 34 39 41
152 151 150 43 49 52
83 82 81 21 24 25
481 493 500 156 168 173
88 88 88 24 28 30
156 155 153 41 47 49
184 186 187 53 57 60
124 123 123 38 44 47
117 118 118 29 33 35
180 179 179 45 50 53
122 127 131 29 32 35
12,361 12,557 12,669 4,698 5,028 5,257
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1990 9.729 (20.08) 10.608 (11.45)
1994 10.035 (19.64) 11.013 (1120) 19.352 (414) 7.543 (24.29) 29.915 (15.15) 10.414  (3065)
1999 10.005 (1892)| 12395 (1215)] 18421  (381) 7.112 (2267) 24862 (1204) 11675 (3384)
10 /) 128698  (1.22) | 151.677 (0.73) |3006.281 (319 2138.226  ( 4.07)
km/ 25787 (131 | 157622 (472 303764 (170)| 117.365 (516) 91125  (299)
km/ 4472464 (124)
km/km2 28424 (216)
1485  (4.75) 13.443 (4.96)
1628  (4.76) 6.055 (204
1795 (190 | 7362 (169)| 2226 (299 7636 (289) 2423 (292
3873 (-393)| -7990 (-169)| -1.564 (-204)| -16.841 (-623)| -2.310 (-276)
141 141 94 94 94 94
0.292 0419 0410 0.368 0.565 0.466
1999
10
1999
1999
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